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1. 2 # % J # (Saint-Venant’s Principle)
2. % 1) B (Axial Rigidity)
3. & & 3% (Superposition Method)
4. % J1 ¥ & (Shear Center)
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I. (a) Distinguish between open and closed system. ( 5% )
(b) What is a coefficient of performance ( c.0.p.) of a refrigeration process?
(5%)

2. An inventor claims to have developed a power cycle capable of delivering a
net work output of 500 KJ for an energy input by heat transfer of 1000 KJ.
The system undergoing the cycle receives the heat transfer from hot gases at a
temperature of 500 K and discharge energy by heat transfer to the atmosphere
at 300 K. Evaluate this claim. ( 10 %)




